SAMPLE QUESTION PAPER

FIRST YEAR HIGHER SECONDARY EXAMINATION

PART III

SUBJECT : COMPUTER APPLICATION ( COMMERCE)

60 SCORES 2 HOURS
Q |Answer any five questions from 1 to 6. 1 score 1 0@ 6 UHOWIBS Ga103463BS] @D
No leach. 5x1=5 aBO®BIERo 5 ag)epOIa
DOYNO0 af)IMYMr. 1 MVEHHID
aflove. 5x1=5
1 |Expand ASCII. ASCII @3S al}36mM®@3alo af) 93D
2 e, is the fastest memory inside computer. |2 |......... HSHMISOlMssoal a@Qilo
( RAM, Cache, Register, Hard disk ) GQNMEROIQ ).
( RAM, Cache, Register, Hard disk )
3 | The process of detecting and correcting errors are ol 0B H:6ENROT) MEYOTOM
called ........ (SO .............. allglesnamy ........
4  |Pick the odd one out. @IGY alO@IM@I@ MY 35O @D
( break, switch, if, sum ) 6)alSIOD®) 66NN
( break, switch, if, sum )
5 |Fundamental building block of C++ program is C++ @Il @rpSslmundm
called ......... mildznoem geplossilom ailglesaymmy
6 |Starting symbol of a pre-processor directive is 80} (Jl-e1aumd mldezuemaileng
a)$b)#0)&d) @ @R)@of@ ailaMo ......... @rRy617).
a$ D# 0& @
Answer any nine questions from 7 to 18. 7 @@ @D 18 QUOC@)SS
2 score each. 9x2=18 (g_.ugp_,‘sa;ng'](o'& agleO®sslello 9
)R DOM@o G)PITRE:.
2 Mie9@ nil@o. 9x2=18
7 | Distinguish between data and information ALOQ@Jo DMBENIBEAHMYo
©®oAlER8s AIY®OMo ag)aD) ?
8 |Find the missing terms in the following series. 9 Joiled ail
101,, 1010,, 11115, ... R EMlJOWRTD GLOEMIWIES (133G W
alB6BRUB DHE)6NBMOITRE:.
101, 1010, 11115, .ceeeneeee s eeeeeenn
9 |Compare RAM and ROM 0320 BNOIAZo I Ao 6).alQRD:




10

Draw any four flowchart symbols.

10

aBOOBsIRI0 MIET BaFIaldBS
21laM6BBUB AUEQ B} E:.

11 |List the two popular approaches in problem solving. [11 |(IU3Mal@laNd@@BI6E! GeNE WM (@@
Al IMEBRUB 15160 |SIOTRE:.
12 |List the type modifiers in C++. 12 | C++ 68l ©6Sa] GRIUla0@O3E-UB
eillqy O21Q)®:..
13 |What is the difference between x =5 and x ==51in [13 | C++ @3 x =5 ©o X == 5 ®o LRSS
CH++ Q@I ag)aDIE).
14 |Rewrite the following code segment using switch |14 |Mfla] GARQOAG Oale@IUIlo]
statement Do O@IM GBI HAVWIOHANG
aflenglo ag) 3R
if(ch=="a’) if(ch=="a’)
cout<<”abacus”; cout<<”abacus”;
else if(ch=="b’") _ else if(ch=="b")
cout<<”binary”; cout<<”binary”;
else else
cout<<”invalid input”; cout<<”invalid input”;
15 |write any four advantages of computer networks. 15 | &MIPSB HMQUBLEBHBIOS
a@BOO®Rljo MLl 1N3EMEBRUB
() PYONE>.
16 |Name any two communication technologies using |16 |@OMUIEG@I @®@oLNEBRUB
radio waves. OalGINHHMM a@BOBsIRI} @6NS
@Rl
MBSO B(SBYOS Bal@d
@B
17 |what is web browsing? Give two examples of web |17 |ag)amaem) euent Enimmilouy? eqient
browsers. (ENIDIVOYELBIOS 6N
OBRIANEEMEBRUB (NMTOEHIEs.
18 |Explain any two advantages of e-learning. 18 |en-gelemiloUilOng a@emesslege @ens
uReM6BRU3 Nilluanle>@lo6)®:.
Answer any nine questions from 19 to 29 . 3 score 19 @3 @3 29 UOHEMSS
each. 9x3=27 @2193(68RE|@8 ageO@:lello 9
aG)ERODIM DOM@o §)LITRD:. 3
mMice:9@ afl@o. 9 x 3 =27
19 |[Represent - 37 in following forms 19 [-37 &M @I alO@IMM Gl Hacd
a)Sign and Magnitude form (MW@l o635
b)1’ s Complement form . a) ©OMVMB BRABUT BIUTIQIUT ando
¢) 2’S complement form b)1's G@:Oo%‘ﬂs)mﬂﬁ“ GaNo.
( Use 8 bit representation ) .
€) 2's ol @ando.
(8 enilg (I@IMWio DalEIUIBENS)
20 | a.) What is an operating system? (1) 2)8300]80gl6er3 Milaho ag)aMI@B ag)(roy

b). Write the major functions of operating system

)

b)839a|80¢lotY MIER@BIONG (:1WIM
(IQUB@TIMNEBRUB ) WY@RE: (2)




21

Identify the type of error
a.) Rules of the programming language are not
followed.

)

b) Instead of © + ’ operator ‘ * ’ is used.

c)User entered the value 0 (zero) for b in the
statement x= a/b;

21

aflesslong m@o @I@lo)Glayes

a. G2l BIHIOS
Tlnaeesud aloellensqsiarig).

b. “+’ a)0M@IY aldb®@o ' *’ ag)0Nn
82qJB0QA alEWIUTEeRMM].

C. DalE@IBMIOT x= a/b ag)(m
(@M @II@B b ag)im@mIMss
@32l 0 (al3Ro) N@DHS);

22

Identify the following tokens in C++ given below.

int, cin, %, do, =, “break”, 20.5, digit

22

@IOY alOWIMOULNRSBS C++
BSIOOEMGHUD ) P3OND:

int, cin, %, do, =, “break”, 20.5, digit

23

Explain any three statements in C++

23

C++ 0.l a@esslello mamy
eaRRenMRie:ud Qiluadle:dleeye:

24

In the following program some lines are missing.
Fill the missing lines.

int numl1, num?2, sum,;
cout<<”enter two numbers”;

cout<<”sum of numbers are ”<<sum;

24

DMl jOQIMM GId(WIAI@D ~flel
QURIS03 Soemilgy. QilgiGalo@
QURIBUB a3@laflec)s:.

int numl1, num?2, sum,;
cout<<”enter two numbers”;

;eturn 0; cout<<”sum of numbers are ”<<sum;
return 0;
}
25 |Explain two types of conversion in C++ with 25 |C++ 6.l E6NE @®o 6)6)Sq]
example.(2) HENBBUBAHMIE-UB

©BIaNBEMMaOI®o QIlUBEE:@lH6)H:.
()

26

Rewrite the following statements using while and
do......while loops.

for(int i=1;i<=10;i+=2)
cout<<i;

26

while and do......while £13o|36>03
Dal@@IUIl o] el jo@3mm
(@I @UMB03 Qflenzgo ag) L3NS,
for(int i=1;i<=10;i+=2)
cout<<i;

27

Define the following terms in communication.
a. Bandwidth
b. Noise
c. Node

27

@Ryue@AIMa@ @IS ilajo@zam
mleninwmM U8 MIBQYailee)ss.

a. Bandwidth

b. Noise

c. Node




28 |what do you mean by cyber security? 28 |©6MENIB MUIEEBH af)MNDRODIENS
List the various cyber attacks. M16BRUB ag)6NT) OECFUBHEMNDY
Qllallw eeHMeNIB @1R)EA6MEBRUB
15|60 |SITNE:.
29 |List the benefits of e-governance. 29 | e-neaemadmilend amgesnud
alSl>6)a |SYODNS>.
30 @@ @3 32 UOHEW)SS
Answer any two questions from 30 to 32 . 5 score c moq;ee‘rsg’lmﬁ ﬂ@amaﬂﬂl&o 2
each. 2x5 =10 a)EROTIT OOM@o af)PYIORD>. 5
mMie®:9@ afl@o. 2 x5 =10
30 |a). Define e-waste. (1 Mark) 30 |a). eo-moeilmie MmlBQ)alleeys. (1)
b). List the e-waste disposal methods. (2 Marks b). en-moellm( mldasdesm &l@ile:ud
). Define the term green computing. (2 Marks) 1S o6 A SIOTOR. (2)
c) (1B &MIISloUT ag)M alBo
mlBlalleeyss. (2)
31 |a). Define topology. (1 Mark) 31 |a). 652G |og8=d]l MIBualleays. (1)
b). Explain different types of topology with digram. b) aillallw meo (gso(g%:]oggé]cg,uﬁ
(4 marks) WQ(No OalEIUIa]
Qllvedle:@less. (4)
32 | a). write a C++ program to print even numbers 32 |a)for elja] OalIUIlS] 0 MI@®@B 100
from 0 to 100 using for loop. (3 Marks) QUOOIBS DOF (MIo6U(dEHUB (oj]qg”
6)21Q000 6303 C++ G(lI(UNI 90N
b). Identify the four components of the above loop. 3) @ 3 (10(UNJ0 )WY
(2 marks) neglenss enafload moel
201SH68RUB @IA@lol0l@is. (2)
PREPARED BY
NIMESH P KURIAN GHSS ERANHIMANGAD
SEENATH P KKMHSS TACHINGANADAM
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SONY JACOB KMHSS KARULAI
ANJU S GHSS EDAKKARA
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MUSHTAFA SHAMSUL HAQ |GHSS VETTATHOOR




